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20 (700) AACAIQHIE & ¢ (710) JUHIR ME : (711) 22 2 HAH 2 : (208) W2 o ma
o = o] 5| =2 3
_ AF oM AF = =
st
2 A 17.430.648| 17.858.286| ~427.638
700
AAT A 2 14,122,122 14.645.397| 523,275
710
ooy 14,122,122 14.645.397| 523,275
711 ]
CECTREP 9.257.875| 9.586.589| ~328,714
200
Syl 9.257.875| 9.586.589| ~328.714
208
T 9.257.875| 9.586.589| ~328.714
9.106.579| 9.435.293| ~A328.714|03 LTy
o SAUNLEQ 4WA (B
24X (8,728.579,0002 )-J| = (9,057.293,0008) =  A328,714
712
PN 4.864.247| 5.058.808| A 194,561
100
ST 235579 165,383 70,196
101
ol 24 Hl 235579 165,383 70.196
193,450 123,254 70.196|10 JIZR22XE24
o =MAN HAR AM FHHE OSUATHE> 70,196
ol 24 H| 34,4002 x 102 x 232 x 8 & = 63.296
ADIEE JBEo 63.296,0002! x 10.9% = 6.900




x
[z_ré %oyl g © (712) Bl S : (201) ger2 gy ciol s ms)
& o 2= = & & | S
@ - & o =y oo
229 2l 4,571,010 4,834,827 N 263,817
%E(')Jﬂ—i—% 416,142 437,408 A21,266
197,534 218,800 A21,266 At 2t el dl
Asta gyl (HY) £16,964
B By LuLay
28 (7,605,000% )-J1& (8,450,000 ) = A 845
BIAN 24
&4 & (40,907,000 )-J1 & (45,452,000& ) = A4,545
NESS 2A 22 A6,424
BaAE Ha SAN HASDI HEE
2 (3,200,000 )-21&(4,000,000&) = A 800
SHANTZOY SN2
Z2&(1,716,000% )-21 & (1,980,000 ) = A264
AEIH SN2l 242 (60, 6C-MASSII S)
28 (2,574,000% )-21 & (3,600,000 ) = A 1,026
dojotE Bl o
23 (10,800,000 )-J1& (12,000,000& ) = 21,200
SPE-STRE
&4 & (28,206,000 )-J1 & (31,340,000&) = A3,134
2ol2 MZE Z3(31,590,000& )-213(35,100,000&) = 23,510
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[ 343 ]
B (700) ASTAQHIE  F : (710) FYHIE Mg @ (712) Fadl 2 @ (206) M2l ool - )
W = | 5|3 3
B of & o A & p) ES
2|y ME = O & o | = ¥ o
206
P\ =] 2,722,670 2,970,585 N 247,915
195,936 163,104 32,832|01 LB I=HI
o A28 RETY (H)
Z A (71,536,000 )-J1 & (79,484,000& ) = AT7,948
o AN METY (B)
Z 3 (74,400,000 )-J1 & (83,620,000 ) = 29,220
o SMAX F4T ANSFUEY HOUES W2 <LX2UEFE
>
50,000,000& x 14l = 50,000
761,637 846,263 AB4,626|02 A4SH
o %EH ()
A A (761,637,000& )-21 & (846,263,000 ) = A 84,626
1,765,097 1,961,218 A196,121|105 ==l
o Sl (BY)
23 (1,765,097,000& )-21&(1,961,218,000& ) = A 196,121
207
=& WA Yl 1,210,474 1,195,474 15,000
1,210,474 1,195,474 15,000|05 DI Etw M HI
o Ham 29 SXNBAUBHELH) 5,000
e+ 15,000
- ®IlEH 4 15,000
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Al O 7,500,000& x 204 =

15,000

57,658

58,598

A 940

57,658

58,598

A 940

8,460

9,400

A 940

0
>

0

(8,460,000& )-21&(9,400,000& )

N 940




[ 343 ]
20 (100) HEXXES S 0 (120) JHS &K Mg : (124) 2E2 S ¢ (401) NEHIS (cel - mm)
o = o |2 | 2 = o _ ; _
A0 =
0 ]
AEHK S 3,308,526 3,212,889 95,637
120
OFS &I Tt 3,308,526 3,212,889 95,637
124
S 1,953,848| 1,820,962 132,886
401
NETR= 1,953,848| 1,820,962 132,886
1,941,700| 1,810,000 131,700{01 Al & H]
o QUBLT 3, AHAX SHUAB BMTA
390,0002! x 130m = 50,700
o YUTAH O{HNS SHYLTZA 45,0008 x 1,800 = 81,000
12,148 10,962 1,186]03 Al&=Chtl
o RUFAF 3, AWK SHAZ BHTA
50,700,0002! x0.9/100 = 457
o YUFAF NUNS SHLLTBA
81,000,0002! x0.9/100 = 729
125
I & K 1,251,767|  1,278,767| 27,000
401
A& IS 1,251,767|  1,278,767|  £27,000
1,047,000  1,274,000|  £27,000{01 Al&H]
o YUZLT(AH) B4X 2Y ST &% MUY
2 (0%)-J1F(27,000,0008) = A27,000
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AN 10,249

A 10,249

A 10,249

o THabHSHl (22

=R

o NHsdELXTFII(AWR) 7

(100,911,000 )-21& (113,160,000 )

1,000,000& x 204

A 12,249

2,000




